t28_prepower
(TMXBLeD6Y6jGEL4AwANZ8HjJmgdwMPZKW{H2)

October 27, 2020

Let vl_xreal 0 : t=-0 be given. Let m2_subset_1 : .=1=1=-0 be given. Let
k1_numbers : ¢ be given. Let k5_numbers : ¢ be given. Let r1_zxreal 0 : t=1=0
be given. Let k6_numbers : ¢ be given. Let np__1 : ¢ be given. Let k2_prepower :
t=>t=t be given. Let v3_zxreal 0 : t=0 be given. Let vl_zzreal 0 : t=>0 be
given. Let v7_ordinall : t=-0 be given. Let kl_newton : 1=1=¢ be given.
Let vl_zboole 0 : t=>0 be given. Let ml_subset_1 : t=>1t=0 be given. Let
kl_zfmisc_l : 1= be given. Let kl_xzboole 0 : ¢ be given. Let k4_ordinall : ¢
be given. Let k11_arytm_3 : ¢ be given. Let v3_ordinall : t=>0 be given. Assume
the following.

VX0.(vlareal 0 X0)=(VX1.(vlzreal 0 X1)=(((rl_-zzreal 0 (1)
X0 X1)A(v3_zzreal 0 X1))=(v3_zareal 0 X0)))

Assume the following.

VX0.(vlzreal 0 X0)=(VX1.(vl_zreal 0 X1)=(VX2.
(m2_subset_-1 X2 kl_numbers k5_numbers)=(((rl_xzreal_ 0 k6_numbers
XO)A((rlzzreal 0 X0 X1)A(rl_xzzreal 0 np__1 X2)))=(rl_zareal-0
(k2_prepower X2 X0) (k2_prepower X2 X1)))))

Assume the following.

VX0.(vlzareal -0 X0)=(VX1.(vl_zzreal 0 X1)=(( (3)
(rlzareal 0 X0 X1)A(rl_zzreal 0 X1 X0))=(X0= X1)))

Assume the following.

VX0.(vlzreal 0 X0)=(VX1.(v7_ordinall X1)=(((
rl_zareal 0 k6_numbers X0)A(rl_zareal 0 np__1 X1))=((kl-newton
(k2_prepower X1 X0) X1 = X0)A(k2_prepower X1 (kl_newton X0 X1) = X0))))
(4)

Assume the following.

VX0.VX1.(vlzzreal 0 X0)A(vl_zzreal 0 X1))=( (5)
rl_zareal 0 X0 X0)



Assume the following.

VX0.VX1.((—vl_zboole 0 X0)A((—vl_zboole.0 X1)A
(ml_subset_ 1 X1 (kl_zfmisc_1 X0))))=(VX2.(m2_subset_1
X2 X0 X1)e(ml_subset-l X2 X1))

Assume the following.
k6_numbers = k1_xboole_0
Assume the following.
kb_numbers = kd_ordinall
Assume the following.
k11 _arytm_3 = k1_xboole_0
Assume the following.
(=vl_zboole 0 k4_ordinall)A(v3_ordinall k4_ordinall)

Assume the following,.
—wvl_xboole 0 k1_numbers

Assume the following.
ml_subset_1 k5_numbers (k1_zfmisc_1 k1_numbers)

Assume the following.

VX0.VX1.((v7-ordinall X0)A(vl_zreal 0 X1))=(vl_zreal 0
(k2_prepower X0 X1))

Assume the following.

VX0.(vlzareal 0 X0)=((v3_zzreal 0 X0)<(—rl_zzrreal 0
k6_numbers X0))

Assume the following.
k1 _zboole_ 0 = the (AXO0 : v.vl_zboole-0 X0)

Assume the following.

VX0.VX1.(vlzzreal 0 X0)A(vl_zzreal 0 X1))=(
(rlzzreal 0 X0 X1)V(rl_zzreal 0 X1 X0))

Assume the following.
VX0.(ml_subset-1 X0 kd_ordinall)=(v7_ordinall X0)
Assume the following.

VX0.(vl_xreal 0 X0)=(vl_zxreal 0 X0)

(6)



Theorem 1

VX0.(vlzreal 0 X0)=(VX1.(vl_zreal 0 X1)=(VX2.
(m2_subset_1 X2 kl_numbers k5 numbers)=-(—(rl_zzreal 0 k6_numbers
XO)A((—rlzareal-0 X1 X0)A((rl-zzreal 0 np_-1 X2)A(rl_zzreal-0
(k2_prepower X2 X1) (k2_prepower X2 X0)))))))



